Honors Algebra 2

Name

Unit é - Exponentials and Logarithms

Date

1. ‘Rewrite as alog:

- Jiog, wi=-3]
X

2. Rewrite as an exponential
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Honors Algebra 2 0~ Unit 6 - Exponentials and Logarithms

13. You purchase a car for $27,000. The value of the car decreases 10% each year. [ =,10

A 27, ooo(i- 10)

b. What |s’rhevolueof’rhecarof’rerﬂxeorse TS
A= 2hoco(.aes = 117,714 -@

c. When will the car be worth half the original value?

15,5000=27,000( .96\t e
/03] 2 «,@,qot ) - (.579 Yem:s{‘

a. Write the equohoﬁ for the car's value in terms o) ’rhe number of years since the pukchose.

14. You deposit $5100 in an account that earns 4.5% annual interest. Find the balance after 10

years if the interest is compounded:: a0HS
a. Semi-Annually s @uor’reriy el Conhnuously;
LOY5\ 216 £Y5 045 (1)
A-=5,100(] + ) B A= 5,100( |+ ) Jrax 5100 &
A= 10 a5s. (90/ | A-171,918.52), A 3 945 59

b. How long would it take to double your investment if itis compounded cormnuouslya

/0,200 = 5,00 @ OHST In2:,095t

2 £ 045 € [t /5 (710:3 \}t?Nb

Js\

Find the Domain, Range, and Asymptote of each function

16. f(x

Domain:

Range:

Asymptote: X L 5

Range:

28 In (5)('“[\3 -5

Asymptote: N = "’?3

Describe thelTransformation in each function

19. f(x) =log, (-x -1)-2 20. f(x) =ﬁ—2" -1
oReflect y-axis oReflect x-axis
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State whether the function ist Increasmg or decreasing *Stoke He mterval Q(\— m(,/dec

21, f(x)=-2"-5
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23. A) Is the table below onZexponen’noI(

function or a logarithmic function?
exponenhal

B) Does the function have a vertical or
| horizontal iesymp‘ro’re?

—
-

C) What is the equation of the asymptote?

X F(x)

-2 2.33333 ZI
vol | 3 =
o 90 5 b'\\
C 11

7 29

24. A) Is the table below an exponential
function or gjlogarithmic function?
Io@
B) Does the function have d‘“!ver’ncol gvr

horizontal asymptote? X~
C) What is the equation for the asymptote?
X F(x)
1.5 -0.631 g
2 0/ - Xz |
4 < paer
10 2 )

25. What is thet@quation of the function
graphed below?

T1h new
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‘-2 B r/ S i) ’j,/_,,_,
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b:

26. What is the equation of the function
graphed below?
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Find the Inverse of the Functions Below

22. y=3*"-4
B ,7\,14
=D .,_LI
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= log, (x4 -

1

23. y=log,(x-])
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27. Graph thelinverse
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28. Graph thelinverse
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29. [ Prove whether the functions INVERSES using composite functions. Must show your work!
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\ng:’re?;pomfs on Graph (z.,l 5 )L 5,2)[':\} 7))
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ansformations R\u\h‘\‘ 7) ULD

Domain(~ oD ,60) Ronge{ CDO\

Asymptote Sl"f \

X-intercept NONE  Y-intercept l() 1.125 B

lncreosmg ) or Decreasing

“e ()

F(2)=» 00 _

X —>

>4
End Behavior: X—> 08

Tronsformoﬂons?\?‘m?& X-QA\S ?\‘\Gh-ﬂ
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State 3 points on Graph {

Domain (‘) B Range

Asymptote X’-l \

X-intercept 12,6) Y-intercept _Y10NE

Increasing or (Decreqsingz)

X —

End Behavior: X




